## Directors' dealings Archive 2009

In accordance with certain rules on insider dealing and market manipulation (market abuse), ABB is required to disclose transactions in ABB shares, derivatives or other financial instru-

ments linked to them, conducted by or on behalf of persons discharging managerial responsibilities or persons closely associated with them.

## www.abb.com

Transaction date:	Notification by:	Position/Title:	Purchase/Sale:	Issuer and ISIN:	Security:	Place:	Nominal value:	Number:	Price: per share/WAR	Value:
18-11-2009	Hubertus von Grünberg	Chairman of the Board of Directors	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.54	9,985	CHF 21.04	CHF 210,084
18-11-2009	Roger Agnelli	Member of the Board of Directors	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.54	2,475	CHF 21.04	CHF 52,074
18-11-2009	Louis R. Hughes	Member of the Board of Directors	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.54	2,475	CHF 21.04	CHF 52,074
18-11-2009	Hans Ulrich Märki	Member of the Board of Directors	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.54	9,064	CHF 21.04	CHF 190,707
18-11-2009	Michel de Rosen	Member of the Board of Directors	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.54	4,951	CHF 21.04	CHF 104,169

18-11-2009	Michael Treschow	Member of the Board of Directors	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.54	2,505	CHF 21.04	CHF 52,705
18-11-2009	Bernd W. Voss	Member of the Board of Directors	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.54	3,336	CHF 21.04	CHF 70,189
18-11-2009	Jacob Wallenberg	Member of the Board of Directors	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.54	2,475	CHF 21.04	CHF 52,074
16-11-2009	Anders Jonsson The shares were purchased under the ABB Employee Share Acquisition Plan	Member of the Group Executive Committee	Purchase	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.54	650	CHF 15.30	CHF 9,945
16-11-2009	Veli-Matti Reinikkala The shares were purchased under the ABB Employee Share Acquisition Plan	Member of the Group Executive Committee	Purchase	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.54	700	USD 12.98	USD 9,086
16-11-2009	Tom Sjökvist The shares were purchased under the ABB Employee Share Acquisition Plan	Member of the Group Executive Committee	Purchase	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.54	650	CHF 15.30	CHF 9,945
16-11-2009	Peter Leupp The shares were purchased under the ABB Employee Share Acquisition Plan	Member of the Group Executive Committee	Purchase	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.54	650	CHF 15.30	CHF 9,945
16-11-2009	Bernhard Jucker The shares were purchased under the ABB Employee Share Acquisition Plan	Member of the Group Executive Committee	Purchase	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.54	650	CHF 15.30	CHF 9,945

16-11-2009	Anders Jonsson The shares were purchased under the ABB Employee Share Acquisition Plan	Member of the Group Executive Committee	Purchase (Person transac- ting: Ulla Jons- son)	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.54	650	CHF 15.30	CHF 9,945
16-11-2009	Diane de Saint Victor The shares were purchased under the ABB Employee Share Acquisition Plan	Member of the Group Executive Committee	Purchase	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.54	650	CHF 15.30	CHF 9,945
16-11-2009	Michel Demaré The shares were purchased under the ABB Employee Share Acquisition Plan	Member of the Group Executive Committee	Purchase	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 1.54	650	CHF 15.30	CHF 9,945
05-08-2009	Joe Hogan	CEO and Member of the Group Executive Committee	Purchase	ABB Ltd, Switzerland CH0012221716	Share	SIX	CHF 1.54	45,000	CHF 19.84	CHF 892,800
27-07-2009	Bernhard Jucker Deal on own behalf	Member of the Group Executive Committee	Sale	ABB Ltd, Switzerland	WAR	n/a	n/a	190,000	CHF 1.10	CHF 209,000
08-06-2009	Hubertus von Grünberg	Chairman of the Board of Directors	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 2.02	12,948	CHF 16.22	CHF 210,017
08-06-2009	Roger Agnelli	Member of the Board of Directors	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 2.02	3,218	CHF 16.22	CHF 52,196
08-06-2009	Louis R. Hughes	Member of the Board of Directors	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 2.02	3,218	CHF 16.22	CHF 52,196
08-06-2009	Hans Ulrich Märki	Member of the Board of Directors	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 2.02	11,770	CHF 16.22	CHF 190,909

08-06-2009	Michel de Rosen	Member of the Board of Directors	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 2.02	3,218	CHF 16.22	CHF 52,196
08-06-2009	Michael Treschow	Member of the Board of Directors	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 2.02	3,245	CHF 16.22	CHF 52,634
08-06-2009	Bernd V. Woss	Member of the Board of Directors	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 2.02	4,323	CHF 16.22	CHF 70,119
08-06-2009	Jacob Wallenberg	Member of the Board of Directors	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 2.02	3,218	CHF 16.22	CHF 52,196
06-05-2009	Tom Sjökvist Shares granted in respect of a special bonus	Member of the Group Executive Committee	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 2.02	14,785	CHF 18.15	CHF 268,348
03-04-2009	Michel Demaré Grant co-investment portion of 2006 ABB Long Term Incentive Plan	Member of the Group Executive Committee	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 2.02	15,014	CHF 16.62	CHF 249,533
03-04-2009	Diane de Saint Victor Grant co-investment portion of 2006 ABB Long Term Incentive Plan	Member of the Group Executive Committee	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 2.02	8,239	CHF 16.62	CHF 136,932
03-04-2009	Bernhard Jucker Grant co-investment portion of 2006 ABB Long Term Incentive Plan	Member of the Group Executive Committee	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 2.02	8,595	CHF 16.62	CHF 142,849

03-04-2009	Ulrich Spiesshofer Grant co-investment portion of 2006 ABB Long Term Incentive Plan	Member of the Group Executive Committee	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 2.02	13,372	CHF 16.62	CHF 222,243
03-04-2009	Anders Jonsson Grant co-investment portion of 2006 ABB Long Term Incentive Plan	Member of the Group Executive Committee	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 2.02	3,603	CHF 16.62	CHF 59,882
03-04-2009	Tom Sjökvist Grant co-investment portion of 2006 ABB Long Term Incentive Plan	Member of the Group Executive Committee	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 2.02	12,451	CHF 16.62	CHF 206,936
03-04-2009	Gary Steel Grant co-investment portion of 2006 ABB Long Term Incentive Plan	Member of the Group Executive Committee	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 2.02	13,416	CHF 16.62	CHF 222,974
03-04-2009	Peter Leupp Grant co-investment portion of 2006 ABB Long Term Incentive Plan	Member of the Group Executive Committee	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 2.02	8,239	CHF 16.62	CHF 136,932
03-04-2009	Veli-Matti Reinikkala Grant co-investment portion of 2006 ABB Long Term Incentive Plan	Member of the Group Executive Committee	Delivered out of treasury shares	ABB Ltd, Switzerland CH0012221716	Share	n/a	CHF 2.02	5,680	USD 14.67	USD 83,326
10-03-2009	Veli-Matti Reinikkala	Member of the Group Executive Committee	Purchase	ABB Ltd, Switzerland CH0012221716	Share	NYSE	CHF 2.02	1,500	USD 12.78	USD 19,170